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T.¥. B.Com. (CBCS) (Semester-V)
EXAMINATION NOVEMEER 1021
Cost Acconnting -1

[Daration : 2 Hoars) [Total Xlarks - 80]
Instrmctions: 1y Chaestion Mo. 1 is compulsory.

qQl

1) Answer amy 3 questions fom ). Wo. 2 to ). Mo, 6.
i) Give working notes wherever necessary.
4 All questions carmy equal marks.

Modern Mamofactures Ltd have thres production deparments 7, 7V and 'Z' and two service 20
departments B and '), the details perfaining to which are as undar;

Particulars Prodection Departments Service Departments
T -1.'&"7 {II: I.]]I I.q?
Drirect Wages (Fs.) 6,000 4,000 &,00d 3.0040 300
Value of machines (Bls ) L0000 | 1.60000 | 300 00 10,004 10,000
Haorse Power of machines (kwh) 120 &0 10K 20 -
Lizht Points (oumbers) 0 30 40 20 10
Area (zg. £ 4,000 5. 0eWd &,00d 40040 1,000
The fallowing figares exiracted ffom the accounfing records are relevant:
E=s

Fent and Blates 10,000

General Lizhting 1,200

Indirsct wages 3378

Power 30040

Depreciation on Machines 20,000

Sundries 10300

Vo are required to prepare:;

] a primary distribution summary showing distribution of owerheads to various
depariments.

i) a satement showing re-distribation of service departments’ expenses to prodoction
deparmments. Apportion the expenses of semvice department 7 in the ratio of 5:4:1 and
those of service department ') in the @tio of 2:3:5 to production deparments X', Y and
"I respectively.
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(.2  From the following particulars you are raquired to caloolats the eamings of a worker for a week 0
under

(i Straight Piece Rate System

(i)  Taylar's Diferential Piece Babs Sysiem
(iif) Haleey's Preminm Plan

() Fowan's Premium Plan

Mumber of working hours per week 48 bours

Wages Per Hour B3 73
Elate Per Piace Bs 1.50
Mormal time taken per piece 20 minuabes
Mormal eutput per week 120 pieces
Actual outpat per week 150 pieces
Differential piece rates B0%%: of piece mte when ouwtput below pormal production
and 120%: of piece rate when owtput above the normal
production
Q.3  a) The following anmual charges are moured in respect of a machine in a shop where manual 12
labour is almest nil and where work is dons by means of five machines of exactly similar typs of
specification
Es.
i} F.ent and Rates (proportional fo the floor space ocoupied) for the shop 4,800
it} Diepreciation oo each machne 500
ifi) Fepairs and maintenance for fve machines 1,040
iv) Electric charges for lizht in the shep 540
v} Sundry supplies such as lubricants, jute, cotton waste, tr. for the shop 450
vi) Aftendamts:
There are two attendants for the five machines and they are each paid Bs.
G- per month.
Wil Supervision:
For the five machines m the shop, there is one supervisor whose emphiments
are Bz 1500/- per month.
wiii) Powner consumead - Bz 005 perumit. The machine uses 10 units of power per
hanr.
ix) Annual working hours per mackine - 1,200 hours.
b} The following is the adest of Ange] Enpinesring Works far the year 2018, 03
Factory overheads Rs. 58,000
Cirect Labsur cost B, 07,200
Cirect Labour Hours 1.34.00 howuars

From the above fisures caloulate:
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(i Crwerhead absorpiion mtes using Diirect Labour Hour Method and Divect Laboar Cost
Mathad.

iz} i?m]maa comparative statement of cost showing the result of application of sach of the
above rates to job no. §67 fom the undsr mentioned data-

Dtirect Material cost Fs=. 100
Direct Labour cost B= 70
Direct Lakaur boauars 30 hovars
0.4 a) What is Labouar Tumovesr? Enumerate the causes and effects of laboar tumanver. 14
b} The following particulars of M's Buchi & Co. melate fo the year ending 313t Manch, 2018. 1d
Amonmt (Bs)
Basic Wages 50,000
Hounse Bent Allowance §.500
Crvertime Allowance 7200
Might Shift Allowance 9,500
Provident Fund deposited for the period 11,000
Enployees' State Insurance Conimibution for the period 2808
Recovery towards House Fent 10,200
Becovery towards supply of peods 16,000

(i) Deamess Allowance - 50% of basic wages.
(iiy  Prowvident Fund is paid for by the empleyer and the employes in equal shars
(iify The mbo of contribution by employer and employes to Employes State Insumance is

15
Determine the met amount of wagss paid in cash fo employess for the year ending 31
March, J018.
Q.5 2) What is fime rate system” Explain itz advantages and limitations. 1@
b} What are overheads? Explain the different types of overhead costs. 1d
Q.6 Wiite short notes on the following (any four): ]

a) Oijectves of Time booking

b} Treatment of idle time in cost accounts.

c) Dhistingwish between cost alkocation and cost apportionment,

d) Adwvantagss of deparimentalizatdon of overhead expenses.

&) Accounting for under-absarption and over-absorption of cwerheads.



